Option A

Option B

Sheet 1/2

LEG REST BZ8 ECLIPS+ 2007
BEENSTEUN BZ8 ECLIPS+ 2007

Plan No. / Plannr.

EO00388/N

Scale/ Schaal: 1:4 |Drafted / Getekend | Verified / Nagezien |Confirmed / Bevestigd

Date / Datum 18/07/2007 | 12/11/2018 | 12/11/2018

Init. / Init. SD SD

PJ




Material / Materiaal

No. / Nr. Plan Article Number No. / Nr. Plan Article Number
| 1 XC00183 3992471 1 23 Y012670 1672404 1
2 X001424 1009752 1 24 Y012695 1672300 1
3 X003889 1901094 1 25 M6x20 DIN912/8.8 1001493 2
4A X001474 1005641 1 26 M5 DIN125A 1001550 1
4B X005557 2018500 1 27 »16 1001598 1
5 X001470 1397900 1 28 8mm 1001637 1
6 X001476 1008444 2 29 M6 DIN985 1001680 5
7 XP00104 2992404 1 30 Large 1002158 1
8 X002126 1992429 1 Medium 1002163 1
9 X002138 1992416 1 31 M6x45 DIN912/8.8 1003109 1
10 X002164 1488200 1 32A M6x35 1006057 3
11 X002170 1992792 1 32B M6x35 1006057 2
12 X002282 1992854 1 33 M6x50 1006997 1
13 X003890 1901095 1 34 M6x20 1006999 3
14 M5 DIN934 1001669 1 35 1001144 1
15 XP00007 2990000 1 36A M6x12mm 1008492 1
16 XP00008 2990001 (39)(L) 1 36B M6x12mm 1008492 2
XP00698 2990928 (39)(R) 1 37 M8x10 DIN916/45H 1008942 1
XP00009 2990002 (42-44)(L) 1 38 ®20x®10.2x1.1 1229600 1
XP00699 2990929 (42-44)(R) 1 39 22 1990648 1
XP0O0010 2990003 (46-48) 1 40A Le/Li 1991341 1
XP00011 2990004 (50) 1 Ri/Re 1991342 1
XP00012 2990005 (55) 1 40B X005556 1903947 05
17 Y007151 1721900 1 41 X003965 1901430 1
18 Y002209 1389600 1 42 M5 DIN986 1992804 1
19 Y002218 16505.. 1 43 M5x60 DIN933/8.8 1908592 1
20 Y002692 1428600 1 44 Y002932 16516.. 1
21A | Y004060 14992.. 1 45* | M6 type S DIN17222 1912027 1
21B | Y021903 20188.. 1 46* 1/4"-20x1-1/2" 1912025 1
22 Y018471 1770754 1

Option A: Knee protector PU
Option B: Knee protector V40
*Only for option B

Option B complete
E001018 = 1912115

Sheet 2/2

LEG REST BZ8 ECLIPS+ 2007
BEENSTEUN BZ8 ECLIPS+ 2007

Plan No. / Plannr.

EO00388/N

Scale/ Schaal: 1:4 |Drafted / Getekend | Verified / Nagezien |Confirmed / Bevestigd
Date / Datum 18/07/2007 | 12/11/2018 | 12/11/2018
Init. / Init. SD SD PJ

\V
W
VRME\REN

000,




